M BEHREREREE (FR2455H10H~16HHE)

NO | HEES WEEL — BORE 4 s, K318
cm 50cm 1.0m
1 A—4 BAI#AO 1.04 0.99 0.87|£Y
2| B—3 |MIAMKIEER 0.80 0.68 0.59| £\
3] B—4 |[E/RIEFHE 1.34 0.67 0.52[kFh
4 B-—-5 [HEARSEE 0.57 0.59 0.55[Fh
5 B—5 |[AhAREE 0.53 0.56 0.50|fE 1L
6] B—5 [ERGEM){HE 0.76 0.46 0.34[FFh
7 B—5 |XK(EFRR)fHE 0.89 0.65 0.54|fE
8] B—5 [BFEZER 0.97 0.64 0.56|E+
9] B—6 |THHEAERLER 0.80 0.59 051[ZY)
10 B—6 [THJI{HE 0.40 0.31 0.29|F&
11 B—6 |FhEAERFAOfIA 0.78 0.60 0.55|EY)
12| B—6 |HREGEFF)Fha 0.66 0.57 0.50[f5h
13 B—6 CalIL: R gl 0.88 0.64 0.55|f5 1
14| B—6 |FHHAEFE 0.92 0.52 0.48[FEh
15| B—6_ |EHOREAREERI 0.84 0.56 0.52[kFh
16 B—6 [|KXCKIRELERD 1.11 0.57 0.42[Fh
17] B—7 [/WAEFIIRUEXFEEFIT) 0.74 0.57 052| £l
18] c—3 [hAEFEHMRAO 0.55 0.49 0.48| £ Y
19] C—3 |#%/Afr=Hitm AOfHhE 0.62 0.59 0.56| =Y
200 Cc—4 |#ZBOL#KA 0.83 0.67 0.52|£1)
21 C—4 [FTHEX(xEERD 0.77 0.40 0.36| =)
22| C—4 [PXRBESSE 0.73 0.51 0.47[Fh
23 C—4 [BHXITI—=2E72 (KBEN1) 0.18 0.25 0.26|fE 4+
24| C—5 [BEENERfE 0.96 0.67 0.61[FFh
25 C—5 RITES XD 0.79 0.65 0.56|fE 1L
26 C—5 | X&£iF 2.98 2.00 1.55|Eh
2711 C—5 |TFHREEHMNK 5.01 1.32 0.84[FFh
28] C—6 |5OoFELE 0.59 0.52 0.49[F5h
29] C—6 |[EFHHEAERELER 0.62 0.53 0.49|=Y
30 C—6 [EBIUIXEH#AO 1.48 0.94 0.66|FE
31 C—6 |[fHBlTIxMEKtEFEET 1.06 0.76 0.65[F5h
32 Cc—6 [LATUVAER 0.86 0.59 0.48|ENn
33 C—6_ |MEAGE 0.60 0.50 0.43|E
34| C—6 |FEIREEEHEIBEZTH 0.90 0.70 0.55[Fh
35| C—6 [IITF@EitE2—(F) 0.77 0.67 0.58|FEEh
36| C—6 |IUTEISEEAEE 0.68 0.61 0.49|BEh
371 Cc—7 /84U n\AVEl 0.74 0.65 057|£Y
38] C—7 x$’1§(i) 1.03 0.76 0.59| £V
39 c—7 INHEREZEEEELG 0.92 0.63 0.45[=1)
40| c—7 [iE TED %17<IEFEJﬁr5&z.Eiﬁ 0.70 0.52 0.43|£Y
4] C—7 |EEFEAmEMHR 0.93 0.71 0.58[ Y
42 c—7 CaESERCE 0.98 0.73 0.60|= V)
43] C—7 |EhhEHh (EiEHH) 0.59 0.61 0.60| £ Y
44| Cc—8 |B:ERGh#E) 0.73 0.69 0.58| Y
45| D—2 |J1—rvyhkGCAO 0.79 0.77 0.71|2Y)
46| D—3 [PXFEEAO 1.96 1.28 1.06[FY
47 D—3 RENREER 1.04 0.85 0.78| Y
48 D—4 |SBHEfrfhikE 0.72 0.53 0.48|=Y)
49 D—4 |B4XFB/AMNA 0.50 0.59 0.51|£Y
50 D—4 | EPXRLEEE 0.73 0.51 042|£Y)
51 D—5 |&HhEER] 1.06 0.50 0.42|=2Y
52| D—5 |BEE/NER (BIEIFHI) 0.66 0.55 0.41|E%
53| D—5 |EB4EAREERI 1.61 1.08 0.72|=2Y
54| D—5 |ER/AKEEH] 0.81 0.69 0.58[2Y
55| D—5 |EEMBE AQfA 0.63 0.59 0.48| £ Y
56 D—6_ [FAERVILISUE 0.15 0.16 0.16|fE 1
5711 D—6 [BFH—FTUNE 0.40 0.26 0.22[FFh
58 D—6 | EiFOFEMKA 0.78 0.46 0.42|fE1
59 D—6 His A+Fi& 0.86 0.64 0.51|En
60 D—6 h EEISEFEHA 1.02 0.81 0.66[kF5h
61 D—6 |+ REBkIG 1.00 0.76 0.60[FF5h
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62 D—6 |BEgll-1—49 (AE) 2.02 1.00 0.74|FEH
63] D—7 |EBFE/AEREER 1.12 0.71 0.61[FFh
64f D—7 | EEBEBEHEUE 0.20 0.24 0.28|E
65 D—7 [ K¥#If{hk 1.32 0.63 0.51[FY)
66] D—7 |/INEEREMA 1.36 1.02 0.81|BEh
67] D—7 |R)IEX 0.92 0.61 0.49[FEh
68] D—7 |EBLIEEX400m%E(TiE 0.53 0.49 0.44[F5h
69 D—7 |H#EERAO 0.84 0.67 0.62|FE+
70 D—7 LHFELARE 0.68 0.50 0.42|Ehn
71 D—7 |VIAERET X R A 0.62 0.56 0.58[kh
72| D—8 |FEI(FHHiE) 0.34 0.34 0.38[fFh
73] E—2 |WFHEfHE 1.03 0.81 0.62|FY
74| E—2 |[E#&F (A 1.17 0.68 0.52|FY
75| E—3 |BROEDEER 0.67 0.62 0.58| =V
76| E—4 |BEREAREERH 0.30 0.35 0.38|£Y
77 E—4 |BOREAREER 0.90 0.63 054|FY)
78 E—5 |FRIRA LA 0.40 0.40 0.36|=1)
79| E—5 |#EReifha 0.73 0.55 0.42|£Y
80] E—6 [—OX#H 1.03 0.73 0.54|Eh
81 E—6 | EEHR=FIHAHAN 0.84 0.66 0.57|E
82l E—6 [/NAEHITSAMA 1.48 0.96 0.76|BEN
83 E—6 |[KEBOEYISUE 0.90 0.83 0.74[FF5h
84| E—6 [BEECGEFHFRAO) 1.12 0.94 0.78[F5h
85| E—7 [FpFBREE{MA 3.82 1.44 1.00[lE
86 E—7 RIS R T ER] 1.04 0.66 0.60|FE+L
87] E—7 |HERAEREER 0.26 0.25 0.30[F5h
88] E—7 [BRAREERITFERER 1.29 0.67 0.56[f5h
89 F—3 [@/sthR 0.75 0.59 051|EY
90 F—4 |SREMREERL I—EIHIGH 0.66 0.64 057|EY
91 F—4 |fEIZ At 32— 0.58 0.44 0.40[ 2\
92 F—5 [AHMAHA(289/5500m% LAHHE) 0.78 0.56 0.50| £ Y
93 F—5 [ZRAREERI 1.01 0.72 0.63[FFh
94 F—5 |[REt 42— ZEHl 1.56 0.94 0.69[FFh
95 F—6 = EEKMAO 0.66 0.51 0.50|f5 1L
96 F—6  [MIEBHUGETFER 0.98 0.68 0.50[FFh
97 F—6 E 2R/ \ZAE TR 0.42 0.46 0.51 |
98] G—1 - XK IE (B E AP EER) 0.35 0.30 0.30| £V
9| G—3 |AEFLEIEIS 0.38 0.33 0.34| 2\
100 G—4 |BEK(BREHSHIGRIhA 0.48 0.43 0.39| £V
101 G—4 EE =l 0.59 0.43 0.38|=1)
102 G—5 |ZERAIGHRBEEH A0t 0.73 0.50 0.41[Fh
103] G—5 [HRBAAHGCEIEIG{HA 0.53 0.48 0.38[fFh
104 G—5 |ENFLEEEHEM{TIA 0.74 0.64 0.53[2Y
105 G—6 | KEBEEXM 0.25 0.25 0.27[Fh
106] G—6 [EHTFE 0.55 0.45 0.44[FEh
107] H—3 EE#&JE%% 0.35 0.33 0.28| =Y
108] H—4 |EEECAIEL 0.29 0.22 0.22|£Y
109] H-—5 ﬁﬂ’u%ﬁﬂ%ﬁﬁ EHEIN) 0.44 0.32 0.30[|£Y
110 H—6 | XEHEHDE 0.35 0.35 0.32|1F
111 1—3 Fapa A () 0.43 0.37 0.32[£1)
112 1—4 B¥XS BRIV ARTILAOR 0.32 0.23 0.25| 1)
113 1—4 BARADR () 0.14 0.14 0.13[£Y
114 1—4 BRORTrJHEAD 0.40 0.32 0.29|£Y
115 1—4 [HE R ERHEA 0.28 0.24 0.21[2Y
116] J—5 |FEWLEEIS 0.10 0.12 0.12|£Y
117] K—38 B¥roRJLAOEISES 0.18 0.16 0.16| Y
118 K—3 BFIUWTE - — 0.05|kE5 1
119 K—3 BEFMEZLEAO — — 0.10|FE+
1200 K—38 [Ty Rfhk — - 0.10[F5h
121 K—8 [KEEEHEIFHI 0.21 0.22 0.20[£Y
122 K—4 |HETHR100m - — -




